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Part |

Listening Comprehension (15 minutes)

Directions: This part is to test your listening ability. It consists of 4 sections.

Section A

Directions: In this section you will hear 5 recorded sentences. Part of them are printed

on your test paper. That is, in the printed sentences some words are missing.
Each sentence will be played two times. When you hear a senteuce, you should

write down the missing word or words in the corresponding space on the Answer
Sheet.

1. You'd better on that guy; I don't trust him

2. When , we all shouted “Come in, please.”

3. Take your time to review the information, then the application form

4 Idon't know how to such kind of people.

5 All matters can be divided into . compounds, mixtures and elements.
Section B<

Directions: In this section you will hear another 5 recorded sentences. Each sentence

will be played two times. After the first playing, there will be a pause.
During the pause, you should decide what function the sentence has. Then
choose the correct answer from the 4 choices given in the test paper marked A),
B), C) and D). You should mark the corresponding letter on your Answer Sheet
with a single line through the centre.
Example:
You will hear: Why don't we take a short rest?
You will read: A) XAJIEERATE.

B) XAJE RN R

C) XA ERRBN.

D) XA TERREEH .
The sentence indicates that the speaker is making a suggestion. Therefore, C)
X A)iEF /R is the correct answer. You should mark the corresponding letter
on the Answer Sheet with a single line through the centre.

6. A) HiEHRTEIA.
B) iifE R,
C) WiEHRHEE.
D) RiFERRIL.

7. A) WHEARTREE.
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B) YHEAFTRERE.
C) PHEARRHIF.
D) S AR

A) X ANERFEEE .
B) XAERTFHALR.
C) XEERREK.
D) EAHERTEW.

A) HEARTRIRE
B) PHEARTER.
C) WEARTHE.
D) BHEARRIEE.

10. A) XRRRBIE.

B) XRRRIRIL.
C) XRRTRFE.
D) XRZ TN,

Section C
Directions: In this section you will hear 10 recorded sentences. Each sentence will be

11.

13.

14,

15.

16.

17.

18.

19.

played two times. After the first playing, there will be a pause. During the

. pause, you should translate what you have heard into Chinese. Write your
translation in the corresponding space on the Answer Sheet. Note that some
parts of the sentences have been translated for you.

RATUATTA= ng?
CBRRITHATHER, Bt

v FRE AR,
BRIER v BURLSRRERIXLRE.
MRARRESRAE, RS
— W RENEE, &—1TA .
IXBRE W 2R LUB S E .
BRI BRI 1] .
g+ S mENE .
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20. ARAKEFH AR .

Section D

Directions: In this section you will hear S short dialogues. After each dialogue there
is a recorded question. The dialogues will be played two times. But the
questions will be played only once. When you hear a question, you should write
down your answer or complete the answer in the corresponding space on the
Answer Sheet.
Example:You will hear:
From the dialogue we learn that the man is going to New York because his

sister lives there. Therefore the answer should be: To see his sister.
21. Because he has to
22. She said that he
23, Susan has got :
24. Because .

25. He went to

Part Il Vocabulary and Structure (30 minutes)
Directions: This part is to test your mastery of the usage of vocabulary and grammar. There

-

are 3 sections in it.

Section A

Directions: This section is to test the use of vocabulary. There are 10 incomplete
sentences in it. You are required to complete each one by choosing the most
appropriate (13 2#]) word or phrase from the 4 choices marked A), B), C) and

D). Then you should mark the corresponding letter on the Answer Sheet with a
singie line through the centre,

26. 1 started last in the race but I soon with the others.
A) cared for
B) went on
C) carried on
D) caught up

27.He on his promise to tell nobody about this.
A) went by
B) went back
C) went in

D) went down
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28. He $10 a month to pay for his summer holiday.
A) put aside
B) put away
C) putup
D) put out

29. Presents costing less than 10 pounds may be imported duty free.
A) in pieces
B) on whole
C) in short
D)inall

30. Modem stove can be used with greater than the old wood-burners.
A) smoothness
B) facility
C) interest
D) fear

31. He might have been killed the arrival of the police.
A) even if
B) if only
C) but for
D) asif

32. This is the outline of the plan. We want the committee to the details.
A) work out
B) work at
C) wear out
D) watch for

33. He told her that he was a bachelor but it that he was married with six
children.
A) seemed to be
B) appeared to be
C) turned out
D) cared to be

34. The use of radar as well as the two-way radio for the police to stop or
catch most speeders.
A) makes it possible
B) make it possible
C) makes possible
D) make them possible
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35, By 1945, electronic equipment had become so complex . often too large to be
convenient or too heavy to be portable.
A) since it was ; il
B) for it was
C) as it was
D) that it was

Section B

Directions: This section is to test the use of both vocabulary and grammar. There are 10
sentences in it. In each sentence, 4 parts aré' underlined and marked 'A), B), C)
and D). One of them is not correct. Either a wrong word or phrase is used or a
structure is wrong. You should find out the wrong part and mark the
corresponding letter on the Answer Sheet with a single line through the centre.

36. At his death(A) Mr. Brown left a large sum(B) in truth(C) for his son(D) until
he was twenty-five.

37. Sometimes(A) in a while the dog would run away(B), but(C) usually he stayed in
(D) the yard.

38. As his remarks were all(A) off the record(B) no one(C) of them could be used in
their written reports(D).

39. I saw the foreign expert(A) and his wife and several few members(B) of his
family(C) at a department store the other dayv(D).

40. Never(A) have(B) so many woman(C) economists held such high federal posts as(D)
they do today. ‘ o .

41, The teacher requires(A) that all the exercises will be(B) rerumed(C) before(D)
the last day of ¢lasses.

42. You wouldn't(A) have caught cold(B)if{C) you weren't(D) caught wet in the rain.

43. Sometime(A) in the future, the helicopter will be likely(B) to take place of(C)
the motorcar completely(D).

44 In addition(A) to teach(B) English at school, he helps to(C) do market surveys
(D) for a company.

45. As long as(A) I am concerned(B), success depends on(C) rich knowledge and
mysterious fortune(D).
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Section C

Directions: This section is to test the use of grammar. There are 10 incomplete
sentences in it. You should fill in each blank with the proper form of the
word given in the brackets. Write the word or words in the corresponding space
on the Answer Sheet.

46. If he had another child (play) with he would be happier.
47. He was giving a (bore) lecture that several listeners fell asleep.
48. Bob and Jane are old friends. They (know) each other for a long time.
49. Stamps have (place) in the upper right-hand corner of an envelope.
50. I didn't feel like (work) so I suggested spending the day in the garden.
51. The workers who have been (unfair) treated are going to strike.
52. The only (solve) is to create an entirely new system.
53. Law and order (mean) different things to people with different political
opinions.
54. There is no (say) about what he will be doing next.
55. It's a shame we don't have any pictures (put) on the wall.
Part III Reading Comprehension (25 minutes)

Directions: This part is to test your reading ability. It consists of 2 sections.

Task 1

Directions: In this section there are 10 statements or questions. Read each of them
carefully and decide which of the four choices given is closest to it in
meaning. The choices are marked A), B), C) and D). You should mark the

corresponding letter on the Answer Sheet with a single line through the centre.

56. In hot countries and during the hot season elsewhere, people prefer to wear white.
A) During the hot season people like to wear white everywhere in the world.
B) Only people in hot countries like to wear white.
C) In hot countries people don't wear white in hot seasons.

D) White is the only color people prefer to wear.

57. If a hardback book is very popular, it is usually published in a paperback edition too.
A) Popular books are usually published in paperback.
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B) Hardback books are published in paperback editions when they become popular.
C) Paperback books are very popular in hardback editions too.
D) Both hardback and paperback books are very popular.
58. The average family which consists of three members at most is a great deal smaller than
it used to be.
A) The family size in the past was less than three,
B) The average number of families in the past was large.
C) The average family was much smaller in the past.
D) The average family now is much smaller than it was in the past.

59. I would have enjoyed the concert if I hadn't exchanged the ticket with you.
A) I enjoyed the concert, because I exchanged the ticket with you.
B) I didn't enjoy the concert for I had exchanged the ticket with you.
C) I enjoyed the concert even if I had exchanged the ticket with you.
D) I didn't enjoy the concert even if I hadn't exchanged the ticket with you.

60. John used to be careless in writing.
A) John is careless in writing now.
B) John has always been careless in writing.
C) John had been careless in writing, but not now.
D) John was not careless in writing,

61. John's car broke down so he had to take a taxi.
A) John's car failed to work.
B) John's car was broken by a taxi.
C) John had a car accident.
D) John was not good at driving.

62. Unless you repeat that information over and over again, you will forget it in less than
a minute.
A) Repetition is necessary in memorizing something.
B) You have a poor memory.
C) That information is hard to memorize.
D) That information is too long to memorize.

63. The American Government has a census every ten years, and the population has been
growing steadily every decade.
A) The census is taken to control the population.
B) The census influences the population.
C) The census is taken to count and analyze population.
D) The census enables the population to grow steadily.

64. I'd like to pay by check rather than in cash.
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65.

A) I'd like to pay in cash.
B) I'd like to pay by check.
C) I had paid in cash.

D) I had. paid by check.

My pen is out of ink.
A) I have dropped my pen.
B) I don't have much ink left.
C) There's not much ink in my pen.
D) I have to get some ink for my pen.

Task 2

Directions: In this section there are 5 short paragraphs. Following each paragraph there

66

67.

68.

69.

70.

is a question. Read the paragraphs carefully and answer the questions
accordingly. Remember to write your answers in the corresponding space on the
Answer Sheet.

. The underground library is on the campus of Hendrix College in the State of Arkansas.

Hendrix wanted to keep some open space in the center of the campus for student
activities. But a library ought to be in a central location too so that students can get
there quickly.

The word “location” means

The Japanese do have longer working hours than Americans. The Japanese work something
like 230 hours a year more than U.S. workers. But it should be noted that U.S. workers

put in the second highest number of hours of anybody in the industrialized world. We

work about 320 hours per year more than workers in such countries as Germany and France.
The Japanese work about hours more than Frenchmen.

The United States has many kinds of climate. On the West Coast, the temperature changes
in very different kind of climate. In those states, people wear light clothing during

the summer, and they need heavy wool or fur clothing in the winter.

The climate of the United States

Marriage and family life of the Americans have been changing. They prefer to marry
later, have fewer children, get more divorces and live more often as singles or as
unmarried couples. The actual number of married couples has risen in recent years, but
the percentage of married people has declined.

&

The word is the opposite of the word “rise”

More than 30 000 front seat passengers are killed or seriously injured each year. At a
speed of only 30 miles per hour it is the same as falling from a third floor window.
Wearing a seat belt saves lives; it reduces your chance of death or serious injury by
more than half.
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The seat belt by more than half.

Part IV Translation—English into Chinese (15 minutes)
Directions: This part is to test your ability to translate English sentences. There are 5
English sentences here. Translate them correctly into Chinese. Remember to write
the Chinese in the corresponding space on the Answer Sheet.:

71. The pilot of the airplane tried to make contact with his base but failed.

72. The theory that liquids tend to expand when heated is easy for us to understand.

73. We have checked with the manufacturers and found that the goods are ready.

74. The solution to this complicated problem depends on our full consideration of a large
range of factors.

75. News magazines feature longer articles dealing with the influence of current events on
modern life.

__?art \' Translation—Chinese into English (25 minutes)

Section A

Directions: This part is to test your ability to translate Chinese phrases. There are 5
Chinese phrases here. Translate them correctly into English. Remember to write
the English in the corresponding space on the Answer Sheet.

76. &M KR

77 R KA E

8. EEAKEZS

79. RATRFRA

80. EOSANRE
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Section B

Directions: This part is to test your ability to translate Chinese sentences. There are
5 Chinese sentences here. Translate them correctly into English. Remember to
write the English in the corresponding space on the Answer Sheet.

81. FERXHMA AKX TEHAMBHA E.

o0
(]

- RO TEHRMF, RARALUREIALRE H %,

83. EXMHIKERE T —EE M Tk .

8

&

A AR EE R T .

85. TEAEBE.

Part VI Writing (10 minutes)
Directions: This part is to test your ability to do practical writing. Your writing
should be based on the following instruction.

EUBRKDPAENE XU— &R, BNLEHMRTREETFEAANTFRAE
KLESN RELEEN ZHFEREAS.
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Part 1 Listening Comprehension (15 minutes)
Directions: This part is to test your listening ability. It consists of 4 sections.

Section A

Directions: In this section you will hear 5 recorded sentences. Part of them are printed
on your test paper. That is, in the printed sentences some words are missing.
Each sentence will be played two times. When you hear a sentence, you should

write down the missing word or words in the corresponding space on the Answer
Sheet.

1. When he was in the hospital he suffered a temporary

2. He'ssuch that he travels with his team.
3. Do you know that you are than most of us?
4. Could you tell me how to remove ?

5. The fire broke out at five and half an hour later it

Section B
Directions: In this section you will hear another S recorded sentences, Each sentence
will be played two times. After the first playing, there will be a pause.
During the pause, you should decide what function the sentence has. Then
choose the correct answer from the 4 choices given in the test paper marked A),
B), C) and D). You should mark the corresponding letter on your Answer Sheet
with a single line through the centre.
Example:
You will hear: Why don't we take a short rest?
You will read: A) XHANERRIT & .
B) XAJERTEY.
C) KAJERFEW.
D) XIERREEN . '
The sentence indicates that the speaker is making a suggestion. Therefore, C)
XAIE R R B is the correct answer. You should mark the corresponding letter
on the Answer Sheet with a single line through the centre.

6. A) WEARTEW.
B) PHEARTIREE.
C) ¥HEARTIEH.
D) JHEARTREE.

7. A) GREIRIE.
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B) RRIRHF.
C) &AIRTIFEE.
D) ZHERTLRE.

8 A) XANERTEK,
B) XANFR TR,
C) XAERTH%.
D) XHHERRIFA].

9. A) VHEARHEE,
B) YHEARHRIL.
C) PHEARE R
D) HiEARETE.

10. A) YHEARREE M.
B) & AT AE.
C) HEARTREIL.
D) HiE AT TIEK.

Section C

Directions: In this section you will hear 10 recorded sentences. Each sentence will be
played two times. After the first playing, there will be a pause. During the
pause, you should translate what you have heard into Chinese. Write your
translation in the corresponding space on the Answer Sheet. Note that some
parts of the sentences have been translated for you.

11 EARR

12. K&, FEETHE.

13. FHRER.

14. tREERE A REIR R

15. ERIRBERELT. .
16. AR , BIENE.
17. BFHER

18. v BASHBBAEE,
19. KT 40 {7 e R AX A 6] B
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Section D

Directions: In this section you will hear 5 short dialogues. After each dialogue there
is a recorded question. The dialogues will be played two times. But the
questions will be played only once. When you hear a question, you should write

down your answer or complete the answer in the corresponding space on the
Answer Sheet.

Example:You will hear:
From the dialogue we learn that the man is going to New York because his
sister lives there. Therefore the answer should be: To see his sister. '

21. She found

22. Because she

23. She will ask them

24. He suggests the woman go there

25. He has spent

Part II Vocabulary and Structure (30 minutes)

Directions: This part is to test your mastery of the usage of vocabulary and grammar. There
are 3 sections in it.

Section A

Directions: This section is to test the use of vocabulary. There are 10 incomplete
sentences in it. You are required to complete each one by choosing the most
appropriate ({324/17) word or phrase from the 4 choices marked A), B), C) and

D). Then you should mark the corresponding letter on the Answer Sheet with a
single line through the centre. '

26. The three boys swam and played twelve o'clock. Then they began to feel
tired.

A)in

B) at

C) until
D) before

27. Harry is retired now, and he used to be a for a football team.
A) leader
B) teacher
C) coach
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28.

29.

30.

32.

33.

34.

D) professor

A police officer was killed last night in a road

A)incident
B) happening
C) accident
D) event

The castle,
A) burnt out
B) bumnt up
C) burnt in
D) burnt at

There are many areas that reflect the

in the sixteenth century, was never rebuilt.

changes of the past decades.

Education is one clear example

A) funeral
B) effective
C) dramatic
D) mineral

. When we have

A) an dinner
B) a dinner
C) dinner

D) the dinner

Your letter is good
A) except
B) except for
C) except that
D) excepting

The old man _,
A) slept over
B) slept
C) slept in
D) slept out

The girl has been living
A) in her own
B) on her own
C) at her own
D) for her own

very late we don't wash up till the next morning.

the spelling is unsatisfactory.

and missed the train.

since her parents died.
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35.

The time will come, I hope, you have more leisure.
A) while
B) when
C)as
D) if

Section B

Directions: This section is to test the use of both vocabulary and grammar. There are 10

36.

37.

38,

39.

40.

41.

42,

43.

44.

45,

sentences in it. In each sentence, 4 parts are underlined and marked A), B), C)
and D). One of them is not correct. Either a wrong word or phrase is used or a
structure is wrong, You should find out the wrong part and mark the :

corresponding letter on the Answer Sheet with a single line through the centre.

IfA) you think(B) about it carefully once more(C), you won't make out(D) the
right decision.

As he had broken(A) my watch he agreed(B) that he must spend(C) the cost of the
repairs(D).

People suspects(A) that smoking(B) has anything(C) to do with cancer: this rests
on(D) several kinds of evidence.

He said(A) that he could hardly(B) hear the radio and asked(C) her to turn it
on(D).

The true(A), the good and the beauty(B) would not exist without the false(C), the
evil and the ugly(D).

Red deer live(A) for about 12 years, although some(B) have been known(C) to live

at(D) an age of 20 years.

All(A) he needs(B) are(C) our praise(D).

Being(A) a student, you should never pretend to(B) know that(C) you don't know
at all(D). '

News agencies(A) are responsible tc supply(B) newspapers, magazines, radio and
television by(C) news reports(D).

This famous scholar made(A) an exciting speech on(B) international affairs(C)
which consisted(D) at least five parts.

Section C
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Directions: This section is to test the use of grammar. There are 10 incomplete
sentences in it. You should fill in each blank with the proper form of the
word given in the brackets. Write the word or words in the corresponding space
on the Answer Sheet.

46. He keeps (ask) me the time and I tell him to buy himself a watch.
47. Would you be good enough (post) my letters while I am away?
¥
48. Since we started doing this exercise, we (complete) six sentences.
49, She looks (disappoint) for she has been waiting for two hours.
50; The (enlarge) edition tumed-out to be very popular.
51. It is hard to (imagination) how he could pass the exam.
52. My (friend) with her has taught me a great deal.
53. The student operated the machine as if he had been a (skill) worker.
54. Efficient management is one of the factors which will (low) production cost.
55. I went to the police station (report) that my car had been stolen.
Part Il Reading Comprehension (25 minutes)

Directions: This part is to test your reading ability. It consists of 2 sections.

Task 1

Directions: In this section there are 10 statements or questions.Read each of them
carefully and decide which of the four choices given is closest to it in
meaning. The choices are marked A), B), C) and D). You should mark the
corresponding letter on the Answer Sheet with a single line through the centre.

56. There are a great number of beautiful flowers in the park and they drew a lot of people.
A) There are many people but not many flowers in the park.
B) There are many people and there are many flowers in the park.
C) Many people come to the park to see the beautiful flowers.
D) The flowers are beautiful in the park but not many people come to see them.

57. Scientists have obtained a large quantity of information about conditions in space.
A) Scientists have got a lot of information in space;
B) Scientists have processed a lot of information about space.
C) Scientists have processed enough information about space.



